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The question paper has 30 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 to 8 are Very Short Answer Questions.
Each question carries 1 mark. Answers to these questions should not

exceed 30 words each.

Questions from serial number 9 to 20 are 3 marks questions.

Answers to these questions should not exceed 80 words each.

Questions from serial number 21 to 28 are 5 marks questions.

Answers to these questions should not exceed 120 words each.

Question numbers 29 and 30 are map questions of 3 marks each from
History and Geography both. After completion, attach the maps inside

your answer-book.



1. S s e adg? 1
What is the meaning of ‘Begar’ ?

2. YA H 9N S died G99 IR o A18-37a%h ol 9 fafigu | 1

Name the best variety of iron-ore found in India.

3. Tl fava # dkdd % U0 FeicEd EHY %1 W@ R g ? Th R WY
HIT | 1

Why is there an overwhelming support to democracy all over the world ?
Explain one reason.

4.  GgI o AW 4 9%q fafma o1 fohe R omEm s foa 2 v Iger i | 1

How does the use of money make it easier to exchange things ? Give an
example.

5.  Uchdl W Afoha 3TfYrehan Geul You 3MMueh foT fope Tehm amwehdt 2 2 1

How is the maximum retail price printed on packets beneficial for you ?

6.  SUNIRAI o T4 o SATUHR h IFEH 1 Teh IE AT | 1

Give an example of violation of consumer’s right to choose.

7.  dlhdd o 319 & Tee HIfFT | 1

Explain the meaning of democracy.

8. WA % forell U ToHifaes g1 st A foiRa reeh S STigie € g il |

Name any one political party of India which grew out of a movement.

~

9. TE9-UYg 3R ATGIA fohd JehR TAlhad I ANl hid & ? T hIWT | 3xI=3

How do pressure groups and movements strengthen democracy ? Explain.

10. YRd H dehi bl fopral dH k1 e} fafafert = o hifsu | 3x1=3

Explain any three loan activities of banks in India.
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12.

13.

14.

15.

16.
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IUAIRT L&A AT (BT, 1986 & T IUHAT foarei o FHuer & fog
el =fes 99 % g 1 favaw Hifsu |
Analyse the importance of the three-tier judicial machinery under

Consumer Protection Act (COPRA), 1986 for redressal of consumer
disputes.

TEUSE HURT fohe TR fava-wt & IcTEH %l TH-gEl % Wy St @ ?

3CTET Afgd Tase hify | 3x1=3

How do Multi-National Corporations (MNCs) interlink production across

countries ? Explain with examples.

BH WRA H ArET 3R 3¥ATq < IcuTed H A9 U §HTd 1 fosh /i AR

U & 2 hiS dI9 I T HifY | 3x1=3

Why are we not able to perform to our full potential in the production of
iron and steel in India ? Explain any three reasons.

“TToct A <ol § WRa # W 3TN A Ag@qUl gig il 8 |7 HAH hil gfee

I | 3x1=3

“Tourism industry in India has grown substantially over the last three
decades.” Support the statement.

ATehds | THTNTR fafaydt w1 forg Tehr gHRITSIa fomam STan @ 2 3erston |fgd
e HINT | Ix1=3

How is social diversity accommodated in democracy ? Explain with
examples.

WA H gl-eeRAgql die-3reh Udt hi fohgl di4 foRiwaisti 1 9o

T | 3x1=3

Describe any three characteristics of the Durg-Bastar-Chandrapur Iron-ore
belt in India.



17. hditieh Hael ¥ fohd Todi % YR W Ig IHHIG e 3faa & Fh a8
FEATIYY] HTHTe SiTa 39cTed HUTH ? T HIWT | 3x1=3

On the basis of which values will it be a fair expectation that democracy

should produce a harmonious social life ? Explain.

18. ‘Afcra 31EF GO | HaErRl Il shi YHERT I AR HifT | 3

Evaluate the role of business classes in the ‘Civil Disobedience Movement’.

19. HLER, 1922 § TiESH 9 ‘ST e i aE o 1 ol s TR 2
g dIF HIUT Tee HIfT | 3x1=3

Why did Gandhiji decide to withdraw the ‘Non-Cooperation Movement’ in

February, 1922 ? Explain any three reasons.

20. 1830 T¥ H U H TS fohral A 3TTIeieh SHigTST T qui HIfT | 3x1=3
AT
orenm & &= o BT o fouaam 4 o1 fopmel i aweneti &1 avi i |
Describe any three economic hardships faced by Europe in the 1830s.
OR

Describe any three problems faced by the French in the sphere of education
in Vietnam.

21. YRAE srdeggeen W v & fohal Uie HehiicHeh THTE bl fagaiwor
i | 5x1=5

Analyse any five positive effects of globalisation on the Indian economy.

22. TIAAAT JMQITH oh QN AN (g AT i WIGAT i hd fahiaa foRam o 2
e Hifv | 5x1=5

How was the sense of collective belonging developed during the freedom
movement ? Explain.
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23. “foRelt <91 W AMISET AR h1 W IGeh ATk foehre &1 ek & |7 54
HYT T FIETT g | 1+4=5

“The advancement of international trade of a country is an index of its
economic development.” Justify the statement.

24. “UsgdAg <l ugel! s et 1789 H WiEHl ifd’ o Wiy g8 |7 U
@ HIfT | 5x1=5
YT
31 SO ! W@ HIfC g i S faaaam o foeg g & g & Tt
Ao foRa |

“The first clear expression of nationalism came with the “French

Revolution’ in 1789.” Examine the statement.

OR

Examine the reasons that forced America to withdraw from the Vietnam

war.

25. IeR fh8 Hgd 3 2 YR 1deIae] W ISl & foheal IR J9TEl R
Ui HIIY | 1+4=5

What is liberalisation ? Describe any four effects of liberalisation on the
Indian economy.

26. TSHITdH gl o GUR o foIT IS uia qurel UM sy | 5x1=5

Suggest any five effective measures to reform political parties.

27. Alehdd <h forgl uT=r fomiwanati <1 gl Hifay | 5x1=5

Describe any five characteristics of democracy.

28, YRR e H WA I <t fireht o1 favemor Hifv | 5x1=5

Analyse the role of chemical industries in the Indian economy.
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29. OF @YU A, B 3R C, WA % U U ToHifdeh @-AEEE (758 9 W), ¥
sifera fopu T & | 571 weren @l frefefed sei Y gErdr @ ggene et
3ok TE I, AFRE W i TE {@ren ) ke 3x1=3

A, 98 T S SAfAdtare S h "1 ¥ Heg § |
B. 9% TIM W&l HIdT TS HiUH 1 STUETH FaTT o |
C. 98 T SIgf et 5 F9eh S arer o |

Three features A, B and C are marked on the given political outline map of
India (on page 9). Identify these features with the help of the following

information and write their correct names on the lines marked on the map :
A. The city associated with the Jallianwala Bagh incident.
B. The place where the Indian National Congress session was held.

C. The place where Gandhiji violated the Salt Law.

Fie:  FHECTRIT J97 A gIRETaT ghenteEl & o/ Jv7 e 29 & T T/

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 29 :

(29.1) SfAATATAT ST shl TAT H Gled gL o1 A1 fARau |

(29.2) 39 TS T AW TARIT &7 et shl Wl A a1l 4 T fopam o |

(29.3) 38 TIM 1 AW foIRgu Sgf et 4 F0eh BT dqrer o | 3x1=3

(29.1) Name the city related to Jallianwala Bagh incident.
(29.2) Name the State where the Indigo planters organised Satyagraha.

(29.3) Name the place where Gandhiji violated the Salt Law.
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30. WA % T T TSR W@I-AFRA (58 11 W) H HHfaRad sl 39w &)
T 2IIiEy R 39 1 faifagu 3x1=3

A, T - AMvEH FA FAT
B. I — YH@ Fqgl TH
C. THams — AR iR 3¥dTq w9

On the given political outline map of India (on page 11) locate and label

the following features with appropriate symbols :
A. Naraura — Nuclear Power Plant
B. Tuticorin — Major Sea Port

C. Bhilai — Iron and Steel Plant

Fieg:  FEfciRad Jv7 e givanaa qhenferEl & o yvT e 30 F T T/
Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 30 :

(30.1) 39 TF 1 A1 foRau gt a0 ifoges Soft g9 feuq @ |

(30.2) 38 TS &1 AW Tl St Tl 9 oo+ e 7 |

(30.3) TaTE AigT 3R s&uTq 99 forg Tsu © feoa 8 2 3x1=3

(30.1) Name the State where Naraura Nuclear Power Plant is located.
(30.2) Name the State where Tuticorin Sea Port is located.
(30.3) In which State is the Bhilai Iron and Steel Plant located ?
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I G.

29 & foTu

For question no. 29

WA kT WET-HTA T (TR )
Outline Map of India (Political)
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I G.

30 & foTu

For question no. 30

WA kT WET-HTA T (TR )
Outline Map of India (Political)
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